300

250

200

150

100

50

0

®,
—t
I::L_.

Run 6011 quartetwise, Asyms0 (Raw): All

quartetwize_asymi

331539
511.49
4.2032+05

Enlries
Mean
Sid Dav

«10°

-50

0

50

100

150

200

250

gHelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 6011 guartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

Entries 0
Mean 0
Std Dev 0

300

250

200

150

100

50

0

Run 6011 quartetwise, Asyms0 (Raw): Beam OFF

—t
g.:.:-

quarebwise_bsamd asyrb

Entries 316747
Mean 5401
Std Dev 4. .3e+05

L 10"

—-50

0

50

100

150

1
200

1
250

gHelNSamples0)|PosHelAceO/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 6011 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

quamstwiza baomi losl asymi
Entries 0
Mean 0
Std Dev 0




Run 6011 quartetwise, Difts0: All

guartetwise diff0
14000 — Entries 331539
— hean 5. Ti6e-05
12000 — Sid Daw 0.04523
10000 —
8000 —
6000 [—
4000 [—
2000 [—
l|::|_|IIII|III|I II|IIII|IIII|IIII|IIII|II ||III|II
-0.25 2 015 0.1 —0.05 0 0.05 0.1 015 0.2

* PosHelAccO/PosHelNSampleso - MNegHelAccO/NegHelNSampleso

Run 6011 quartetwise, Diffs0: Beam ON, Laser ON

quanebwise_beaml_las? ot

Entries 0
Mean 0
Std Dev 0

Run 6011 quartetwise, Diffs0: Beam OFF

quartetwiss_k=am0_difio
: Eniries 36747
B hMean 8.147e<05
12000— Std Dev  0.04518
10000 —
BOOD —
G000 —
4000 —
2000 —
D_lllllllllll II|IIII|IIIIIIIIIIIIIIlII ||III|II
.25 2 -0.15 0.1 —0.05 0 0.05 0.1 0.15 0.2

" PosHelAccO/PosHelNSampleso - MegHelAccO/MegHelNSamplesO

Run 6011 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif
Entries 0
Mean 0
Std Dev 0




Run 6011 gquartetwise, NegHelAccO/NSamplesQ: All
quartetwize_negHQ
B Entries 331539
12000 — Mean 01566
B Std Dev  0.1251
10000 —
8000 |—
6000 |—
4000 |—
2000 |—
ol T T ST R S N L v 1
0.4 0.2 0 0.2 0.4 0.6

MNegHelAccD/NegHelNSampleso

Run 6011 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON

guamstwisa baami_last nagHD

Entries 0
Mean 0
Std Dev 0

Run 6011 quartetwise, NegHelAcc0/NSamplesQ: Beam OFF

guarebwise_bsamd negkll

120007 Enties 316747

- Mean 0.1579

— Std Dev 0.1262
10000 —
8000 —
6000 —
4000 —
2000 —

ol L I R T N L 0
0.4 0.2 0 0.2 0.4 0.6

MNegHelAccO/NegHelNSamplesO

Run 6011 quartetwise, NegHselAccl/NSamples: Beam ON, Laser OFF

ﬂ.im.“““ﬂ kaami lasl HIIEH[I
Entries 0
Mean 0
Std Dev 0




12000

10000

BO0OO

G000

4000

2000

Run 6011 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO
- Entries 331539
— Mean 01567
B Std Dev 0.1252
[ 1 . T TR
0.4 -0.2 0.2 0.4 0.6

PosHelAccO/PosHelNSamplesD

Run 6011 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON

guamstwisa baami las! posHc

Entries 0
Mean 0
Std Dev 0

10000

8000

6000

4000

2000

Run 6011 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd
B Entries 316747
B Mean 0.158
- Std Dev 01263
[ 1 . | 1
-0.4 -0.2 D.2 0.4 0.6

PosHelAccO/PosHelNSamplesD

Run 6011 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

quamstwiza baomi lnsl poskHs
Entries 0
Mean 0
Std Dev 0




12000

10000

BO0OO

6000

4000

2000

Run 6011 quartetwise, Sums0: All

quartetwize_summbD

Entries 331539
Mean 0.3133
Std Dev 0.24861

0.5

1.5

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 6011 quartetwise, Sums0: Beam ON, Laser ON

guamshwiza baami las! summi

Entries 0
Mean 0
Std Dev 0

10000

8000

6000

4000

2000

Run 6011 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd

Entries 316747
Mean 0.316
Std Dev 0.2484

0.5

1.5

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0

Run 6011 quartetwise, Sums(: Beam ON, Laser OFF

quannstwisa baami lasl sumimil
Entries 0
Mean 0
Std Dev 0




